=
= eco
@)\' PASS

PORT. :hager

Product Environmental Profile
Trunking distributor with RCBO and SPD

<
O

\gaq I 'A—
4' ™

- e

4

Company information References covered

Hager For the complete list of the covered references, see details in Appendix 1.

132 Boulevard d’Europe
F 67215 Obernai Cedex
www.hagergroup.com

A question concerning the Product Environmental Profile: info@hager.com

Methodology

PEP has been performed according to the PCR version PEP-PCR-ed4-2021 09 06 and PSR version PSR-0005-ed3.1-2023 12 08 issued by the PEP ecopassport program.
For further information, please see the website of the program www.pep-ecopassport.org

Reference product

Reference product identification Protect the installation against overloads and short-circuits, protect people and premises at risk of fire or

GKEVO03SET33 explosion against insulation defects in circuit with assigned voltage U=240 V, rated current In=13 A, with
1P+N poles, a rated breaking capacity 10 kA, the tripping curve B, the sensitivity S=30mA, a type of
differential protection A and is protecting against the penetration of solid objects and liquids (IP2X) and
protect also the installation against direct or indirect effects of lightning or against transient overvoltages
electrical equipements connected to networks with a rated operational voltage up to 1000 V AC or 1500 V
DC, via a surge arrester of type T=T3, with 1P+N poles, with a maximum continuous operating voltage
Uc=264V and a rated discharge current for class 2 test In: 5kA, with an assigned protection Voltage level
Up=1,25 kV, a frequency range of the low voltage system F : 50-60 Hz and is protected against the
penetration of solid objects and liquids (IP20) in the Household/Commercial areas, according to the
appropriate use scenario, and during the reference service life of the product of 20 years.
Those devices are protected by a casing and intended to be mounted in a trunking system.

Use scenario based on :

PSR product Category : PSR-0005-ed3.1-2023 12 08 The functional unit is based on the use scenario recommended by the PCR for the category of the reference

3.16 Combination of functions product.

PEP ecopassport 1/5 HAGE-01466-V01.01-EN



Materials and substances

All useful measures have been adopted to ensure that the materials used in the composition of the product do not contain any substances banned by the legislation in force at the time of marketing.

PEP ecopassport

Plastics Others
[¢] % [¢] % [¢] %

PAB 144.64 20.1% Copper 66.41 9.2% Cardboard 174.50 24.3%

PA66 77.27 10.7% Steel 66.02 9.2% Glass 42.26 5.9%

PE-LD 3.41 0.5% Brass 14.01 1.9% Wood 17.04 2.4%

Nitril rubber 3.24 0.5% Steel 13.35 1.9% Talc 13.21 1.8%

Silicon rubber 3.14 0.4% Cast iron 8.45 1.2% Other 51.36 7.1%

Other 3.37 0.5% Other 17.16 2.4%

;:‘t:aklar;:;s:of reference product with raw material 718.83 g
Total mass of reference product 681.58 g

(Product + packaging)

System Boundaries

The environmental information included in the PEP covers all the stages of the life cycle, from "cradle to grave".

Manufacturing Distribution Installation Use End of life Module D
(o))
£
o ° 0
> ()
g g | o | 38 5
s 5 c c — s = = 29 -
b 8 S S 63 2 5 7 > s -
So| 5 o o & c® S 3 - 2 o o c € £3 ® 3
£ £ c c 25 6% osg 3 c c 5 2% S oc oe o 8
s 8 g 5 Se ca T2 2 _ g S 58 8 2 22 25 = 2
8 5 | 2 g2 g2 ss | 8 | § | ¢ | E | 8s|Es| = | g8F |25 8 58
25| 2 ke 25 8% a3 2 3 S S £ 8 ] % 25 | 58 oy 2 2
D5 = 3 = T D T © < 14 - 73 23 5 3 c S o Q = =)
T 5 2 g 25 R 52 I} 53 4 g o T ¥ S €8 e T o
go | 2 g g2s 2 55 | = & & - &l g | g8 5=
© = > ~ o=
2 <] ® ® ® 2 > S s = o m o
T 7] < < D= = =1 [0} o 0 c
K 2 =3 = g © £ o 32 S
[ Il = (= >
= 2 a
=
o

Life cycle stages

Manufacturing Distribution

These products are manufactured by a site that has received an environmental certification
ISO 14001.

The packaging has been designed in accordance with current regulations. In particular,
the European directive 94/62/CE relative to packaging and packaging waste.

This phase takes into account raw materials, manufacturing processes, production offcuts
and their end-of-life treatment, upstream transport of materials and sub-assemblies to the
manufacturing site, and transport from the manufacturing site to the final logistics platform.

The used packaging is 100% recyclable or recoverable.
Packaging and logistic flows are continuously improved in order to reduce their impact.

This phase taken into account the transport of the finished product, including
packaging, to its place of use.

Installation

Installation processes
The processes to install the product are not considered in this study because of their weak impact compared to the other life cycles steps.

This phase only take into account the impact of the packaging waste treatment.

Installation elements (non delivered with the product)
Elements non delivered with the product and needed to install the product are not considered.

Power loss / load dependent

Power consumption / not load dependent

Active mode Inactive mode Active Sleep phase Passive Sleep phase Turn off phase

Watt % of time Watt % of time Watt % of time Watt % of time Watt % of time

0.108 30.0% 0 70.0% 0 100.0% 0 0.0% 0 0.0%
This corresponds to a total energy consumption of 5.68 kWh for the use span of 20 years.
Energy model of the use phase :
Europe
Consumables and maintenance :
None

2/5 HAGE-01466-V01.01-EN



End of life

Considering the complexity of the recycling channels for electric and electronic equipment impacts, we rely mainely on ESR modules (datasets for WEEE product end of life).

The recycling potential of the product is: 37%. The calculation of this rate is based on the method of the IEC/TR 62635.

Environmental impacts

Evaluation of the environmental impact covers the following life cycle stages: raw materials + manufacturing (RMM), distribution (D), installation (1), use (U) and end of life (EoL).

Al calculations are done with EIME software version 6.3.3-9 with the database version CODDE-2025-04 .
Indicators set : Indicators for PEF EF 3.1 (Compliance: PEP ed.4, EN15804+A2) v2.0

PEP representative of the covered products marketed in: Europe
Energy models considered for each phase

Manufacturing Distribution Installation

A1-A3 A4 A5

End Of Life

C1-C4

Environmental impact indicators

Manufacturing

Distribution

Installation

(VEL)

End Of Life

Indicators Unit A1-A3 Ad | A5 | B1-B7 | c1-Ca | GLOBAL Module D
Acidification (PEF-AP) mole H+ eq. 4.17E-02 1.73E-04 5.35E-04 1.20E-02 4.41E-03 5.89E-02 -2.48E-02
Climate change - Total (PEF-GWP) kg CO2 e 4.31E+00 1.09E-01 3.91E-01 2.29E+00 7.60E-01 7.86E+00 -6.63E-01
Climate change-Biogenic (PEF-GWPb) kg CO2 eq. -1.75E-01 4.47E-07 2.37E-01 5.07E-02 8.24E-02 1.95E-01 -8.41E-03
Climate change-Fossil (PEF-GWPf) kg CO2 eq. 4.48E+00 1.09E-01 1.54E-01 2.24E+00 6.78E-01 7.66E+00 -6.54E-01
SR L ICU IO CE ) 2.43E-06 1.65E-07 1.46E-09 0.00E+00 4.02E-09 2.60E-06 0.00E+00
(PEF-GWPIu)
Ecotoxicity, freshwater (PEF-CTUe) 5.59E+03 3.19E+00 2.38E+00 3.44E+00 5.15E+00 5.60E+03 -6.48E+00
EF-particulate Matter (PEF-PM) '”gi'g::s:;’f 2.73E-07 1.48E-09 3.23E-09 9.40E-08 2.65E-08 3.98E-07 -7.08E-08
Eutrophication, freshwater (PEF-Epf) kg P eq. 8.52E-05 4.08E-07 1.94E-06 5.49E-06 6.86E-06 9.99E-05 -2.39E-03
Eutrophication, marine (PEF-Epm) kg N eq. 3.49E-03 3.13E-05 2.03E-04 1.41E-03 2.06E-03 7.19E-03 -1.28E-03
Eutrophication, terrestrial (PEF-Ept) mole of N eq. 3.78E-02 3.43E-04 1.63E-03 2.25E-02 6.52E-03 6.89E-02 -1.62E-02
Human toxicity, cancer (PEF-CTUh-c) CTUh 1.36E-07 2.14E-11 1.53E-08 2.84E-10 1.26E-08 1.64E-07 -4.77E-09
Human toxicity, ancer (PEF-CTUh-nc) 4.31E-07 4.08E-10 5.78E-10 6.72E-09 2.34E-08 4.62E-07 -2.80E-07
lonising radiation, human health (PEF-IR) 4.87E+00 3.86E-03 2.57E-02 3.00E+00 3.72E-02 7.94E+00 -2.38E-02
Land use (PEF-LU) imensi 7.12E-02 4.67E-04 7.96E-04 6.08E-02 1.08E+00 1.21E+00 -2.08E+01
Ozone depletion (PEF-ODP) 6.97E-07 1.33E-09 2.65E-09 9.83E-09 5.05E-08 7.61E-07 -2.29E-08
f;g;‘f;'gg‘;ja' ozone formation - human health |+ ¢ NMyOC eq 1.27E-02 1.11E-04 3.66E-04 4.46E-03 1.82E-03 1.94E-02 4.93E-03
Resource use, fossils (PEF-ADP) 1.08E+02 1.94E+00 1.72E+00 5.50E+01 6.78E+00 1.73E+02 -4.59E+00
;,EEEKEEP‘SE' D L kg Sb eq 3.22E-03 3.90E-08 9.62E-09 7.44E-07 1.97E-06 3.22E-03 7.42E-05
Water use (PEF-WU) 3.19E+00 3.93E-03 1.30E-02 1.74E-01 9.94E+01 1.03E+02 -2.64E+02
Resource use indicators

. . Manufacturing Distribution Installation (VET:Y End Of Life

Indicators Unit A1-A3 Ad ’ A5 ’ B1-B7 ’ c1-Ca | GLOBAL Module D
Net use of fresh water m3 7.44E-02 9.16E-05 9.50E-04 4.06E-03 2.73E+00 2.81E+00 -6.27E+00
Total primary energy - 1.15E+02 1.95E+00 1.94E+00 6.79E+01 7.33E+00 1.95E+02 -7.99E+00
Total non renewable primary energy - 1.08E+02 1.94E+00 1.72E+00 5.50E+01 6.78E+00 1.73E+02 -4.59E+00
Total renewable primary energy - 7.50E+00 6.12E-03 2.17E-01 1.29E+01 5.50E-01 2.12E+01 -3.40E+00
Non renewable primary energy used as energy 9.95E+01 1.94E+00 1.72E+00 5.50E+01 6.78E+00 1.65E+02 -4.59E+00
D N e (T G 8.47E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 8.47E+00 0.00E+00
Use of non renewable secondary fuels - 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Renewable primary energy used as energy 3.94E+00 6.12E-03 2.17E-01 1.29E+01 5.50E-01 1.76E+01 -3.40E+00
Renewable primary energy used as raw material 3.55E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 3.55E+00 0.00E+00
Use of renewable secondary fuels - 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Use of secondary material 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

PEP ecopassport

3/5

HAGE-01466-V01.01-EN



Waste category indicators

Manufacturing

Indicators End Of Life |

C1-C4
5.19E-02

A4
4.57E-04

A5 B1-B7
2.36E-02 6.33E-02

Distribution | Installation | (VEL) |

1.71E+01

Hazardous waste disposed

GLOBAL

1.72E+01

-8.05E-19

Non hazardous waste disposed 8.33E-01 1.01E-02 4.22E-02 3.46E-01 5.15E-03

1.24E+00

-1.61E-18

1.91E-04 8.03E-06 1.00E-05 8.15E-05 2.18E-06

Radioactive waste disposed

2.92E-04

0.00E+00

Output flow indicators

Indicators

Manufacturing Distribution |

Installation (VEL)
A1-A3 A4

End Of Life
A5

C1-C4

GLOBAL

Components for re-use 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Exported energy 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Materials for energy recovery 7.77E-03 0.00E+00 1.15E-02 0.00E+00 2.39E-05 1.93E-02 0.00E+00
Materials for recycling 1.13E-01 0.00E+00 1.05E-01 0.00E+00 2.17E-04 2.18E-01 0.00E+00

Biogenic carbon content

Packaging Cardboard

Biogenic carbon content (ratio) 2.80E+01 3.78E+01 3.95E+01

1.75E-01 6.96E-03 1.70E-02 1.98E-01
Biogenic carbon content (declared unit) 4.89E-02 2.63E-03 6.73E-03 5.82E-02
Biogenic carbon content (functional unit) 4.89E-02 2.63E-03 6.73E-03 5.82E-02

ADEME APESA/RECORD EN 16485

0.00E+00 0.00E+00 0.00E+00 0.00E+00
Bioge bo 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Bioge bo 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Extrapolation rules

For each reference in this homogeneous family (see Appendix), the environmental impacts for each phase and indicator are derived from life-cycle analysis (LCA).

Verification

Drafting Rules PEP-PCR-ed4-2021 09 06
Supplemented by PSR-0005-ed3.1-2023 12 08
Information and reference documents: www.pep-ecopassport.org
5 years

Registration N°:  HAGE-01466-V01.01-EN

Verifier accreditation N°:  VH65

Date of issue: 2-2026

Independent verification of the declaration and data, in compliance with ISO 14025 : 2006
Internal @ External o

The PCR review was conducted by a panel of experts chaired by Julie Orgelet (DDemain)

PEPs are compliant with XP C08-100-1:2016 or EN 50693:2019
The elements of the present PEP cannot be compared with elements from another program.

Validity period:

Document in compliance with ISO 14025 : 2006 « Environmental labels and declarations. Type Ill environmental declarations »

Nota :

The picture has no contractual value.

All numerical values indicated in this document may vary and depend of many factors such as the tolerance related to materials, the usage and environment conditions of the products, installation characteristics ... , real values for a product in a concrete
application may therefore change.

The usage time mentioned in this document is an average duration chosen for the need of the calculations. This value cannot be assimilated to the minimum, average or real life time.

The responsibility of the company, issuing this document, can never be engaged if differences would be noticed between the values given by this document and real ones, whatever the causes and/or consequences would be.

PEP ecopassport 4/5 HAGE-01466-V01.01-EN



Appendix

cidence of diseases]

mole H+ eq.]
nary energy used as energy - [MJ]
nary energy - [MJ]

Components for re-use - [kg]
Exported energy - [MJ]
Land use (PEF-LU)
Net use of fresh water - [m3]
(PEF-ADPe) - [kg Sb eq]
renewable primary energy - [MJ]
Total primary energy - [MJ]

Materials for recycli
Radioactive waste disposed - [kg]

Hazardous waste disposed - [kg]
Water use (PEF-WU) - [m3 eq.]

Materials for energy recovery - [kg]
Use of secondary material

Non hazardous waste disposed - [kg]
Resource use, minerals and metals

o
<
o
i}
(3
c
<
®
3
2
S
<

Resource use, fossils (PEF-ADP) - [MJ]
Total renewable pri

Climate change - Total (PEF-GWP) - [kg CO2 eq.]
Climate change-Biogenic (PEF-GWPb) - [kg CO2 eq.]
Climate change-Fossil (PEF-GWPS) - [kg CO2 eq.]
Ecotoxicity, freshwater (PEF-CTUe) - [CTUe]
Eutrophication, freshwater (PEF-Epf) - [kg P eq.]
Eutrophication, marine (PEF-Epm) - [kg N eq.]
Eutrophication, terrestrial (PEF-Ept) - [mole of N eq.]
Human toxicity, cancer (PEF-CTUh-c) - [CTUh]
Human toxicity, non-cancer (PEF-CTUh-nc) - [CTUh]

Non renewable pi
Ozone depletion (PEF-ODP) - [kg CFC-11 eq.]
Renewable primary energy used as energy - [MJ]
Total no
Use of non renewable secondary fuels - [MJ]
Use of renewable secondary fuels - [MJ]

Non renewable primary energy used as raw material - [MJ]
Renewable primary energy used as raw material - [MJ]

lonising radiation, human health (PEF-IR) - [kg Bq U235 eq.]
EF-particulate Matter (PEF-PM) - [|

Climate change-Land use and land use change (PEF-GWPIu) - [kg CO2 eq.]
Photochemical ozone formation - human health (PEF-POCP) - [kg of NMVOC

o
R LGV < eco| oo 1rscor] ssocn| 2uaeas] ooncun] ssocn| asaeas] suscon] srocae| o] rieeo| ssscar| avear| worein] rrmcae] o] siseor] ruscse] aseor] o] sorcin| avear| armeor| sereae] rorad] soen] sescin| coomae] someon] sameie] rsae] ronein] omern| ovoceo] aoneio] sssern
8 £
> 3
ERRD IRV | oo vrscor| wsscon| 2] oonern| soscan| asaeas] ssneos| sroeae| owsao] sreeer| ssrear| s worern] o] o] srieor| rioeae| swea] somer| ssscin| sorear| zrmeor] sareae] rorean] soero] somern| o] sameon] somee] ssuae] rasero] omern| oossao] aoneno] szreen
©
= [RGESIARTI < reoo| ssocn] o] wancrn] niocan| ooei] sssern| osocas| aseao] srmeor] omen| irie| seor| ssiear| o] rizeor] rreas| o] rucos] orcor| sssr| sorein] ssrear| 2rar] rereos] ssrear] soiao] o] sameie] 2] soneia] ssscie] reiao] aoneio] omern| ovoao] aveei
=
S0 DGR o] o] woeo| o] o] oomen] siocn| somar| srseon] swseae] o] wsreos] zrser| somero] saneos] soreae] o] wonern] sroean| roree] rotern] omern| roseo] raneon] srieoe] o] aszes] omern| o] soneoo| ssicun| sguao] aszecs] omern| ososseo] aoneo] sscan
2
£ [RGUESIRARPI oo coocor| cveor] vomeor] soscar] ooeo] sssein] soocar| aves| siscos] omern| asrad] auier] ssocio| ave] woreos] omeran| o] ssseos] soreae] coiao] wonein] ssocis| o] rvvcos] owocse| evmao] aonein] soicin| aeao] sotcin] sascin| esoeao] aonein] omern| ovoceo] ssneer
a (ARSI e 11oe0| wnear] soean| sosear| owern| savero] sosewr| sueas| suar] omero] asseos] zsses| soserof ssseas| ssoeos] oovewo] acoeuso| sioeas| scavar| sssero] oonewo] rsseo| rasean| svieos] soseos] ssses] ooruso| oseun| ssveon] soseno) roseico] aseas| osocsn| ommero] ooneo) soseas
E=l S
© S 4 ckevosseTas | [ L N e e e o e T L I I [ [ [ T R P P e e T T N I e e e
[0
% [RGESIREPI sovco soieo| 2oem| roeor| sioson| o] snern| ssscan| zoor] vsseos] omern| 2] vsseon] srero| 2] romeos] siseae] o] suneos] szmeae] ] aonesn] cosean| smeo] soneos] ssocae| 2| aonewo] srzesn| sezeao] sr2eno] ssicen| 2] aoneso] omern| omeeao] 1necd
=)
(NGRS 5vco svicor| 2veor] voco] viocon] oo concin] soican| 2oad] veeon] omern| aseae] rseon] srocso| asae] ravcos] viscae] o] ssmcor] srmcie] irao] wonein] soscin| e suscos] seocis| 2vear| aonein] srecin| o] 1r2ein] soicin| 2vear] aonein] omern| ovoceo] 1oneer
e BRI woor| o] sorece] zoscon| s sonern| suscan| sseao] rereon| o] o] ssseoe] zoserof araeao] soneen] smeae] oosao] wonern] ssocan| suen] ssneror| omern| soseao] saneon] ssowan| siusas] saseeor] omesn| ssoson] raser] samern| orosan] saseeor] omern| oossao] aonero] sracon
)
I
2| GRS | wscin] siocae] 2o ooncin] omean| areo] soscon] ssocan| 2ucia] wonein] ssscae] o] reseon] sascan| asseae] woncin] omeran| e srseor] samcin] ooomao] seneos] ssmcar| o] osseos] vancin] ovomao] soneio]| osocar| ssomor] roneio]| vanci] ovomeo] aoneio] omern| 1oocar
[RGESIAETI oocoo| oocon| ssea] rosern] omoeon| somao] zsern] swonan| aosen] ssnece] o] sssee] zovero] aroean| zrssao] asrece] o] o] zameos] zuseor] ssomo| aonesn] soran| soneas] ssneos] srreae| oreuao] aoneno] ssmerr| sz soneeor] asern| oresao] aonero] omern| oseao] rameen
-0 9
ORI INEORDAECI < o] reocor| omcar] emeor] womcon] omean| ] sameon] avscan| aseao] woncin] siocie| o] sicos] sracae| 1oomao] ssmeos] arrear] arao] siseon] srocvn| ooomao] soscon] soscan| o] asseos] ssocor] ovomao] areein] ssrese| srorao] 7o) ssocor| ovoreo] aoneio] omern| e
- -
g (RGP < ocor| o] smea] ormeor| swean| o] srern| oszean| o] oseos| omern| se] raneon] corean| sree] ronern] soean| 2] arsein] srsean] osao] aonesn] sorean| 2] vaseos] zrocon| sosan| aonewo] oaern| soneao] assero] rovern| sscan] aoneso] omern| ososeao] sorend
GKeEVo3sET34 [ [ L N e L I [ L R P P R P e e e e e e N e e e
(“Na]
2 [RGVESIRREI < coc| o] wes] soeor| omeran| sos] canern| oman| ames] vsvece] omean| soao] wrrece] zsoear| o] onerr| oseon| ssua] rern] osean| oguao] aonesn] zzoean| oneas] wsneos] omeon| ossao] aoneso] assevn| e assero] rssevn| ogsao] aoneso] omern| ososeso] 2otend
°
e} [RGUESIRARTI o] soreor| o] ssseor| omean| ooe] ssnesn] aivean| teao] vsicor] omeran| ooiso] woneon] assear| 2seae] coneeor| omeran| oo sonesn] omeran| ssto] aonesn] asiesn| 7] saneon] omeran| sviao] aoneio] wsicin| ] <otein] soscrn| sviao] aoneio] omern| ovsao] 2eser
=
(AR <] acoior] somas] asisor] wsoton] oamene] scaton] emms] e sstnca] oomesn] sonton] srmace] asar| ssnca] coneosr] sonnen] wonssse] asstn] ssoreon] omeeo] ootmo] coneia] roman] sonse] soneun] ssonso] aimneso] ssascn] 1aznon] omer] ssten] o] weosecn] asotoe] o] e

PEP ecopassport 5/5 HAGE-01466-V01.01-EN



